Q1.

JKG International School, Indirapuram
Holiday Assignment (2018-19)
Class- IX

SUBJECT- ENGLISH

Write the answers of the following questions in not more than 30
to 40 Words.

a) What were the things that rained out of Bill Bryson's bag at the airport?

b) Why did the narrator frequently fail to use the flyer miles?

c) Why did Sergei call Lushkoff his God son?

d) How did Olga bring a change in Lushkoff?

e) After becoming the leader of his village, Prashant performed two

important tasks. What were they?

f) To whom did the happy Prince send his Great Ruby and why?

g) What revived Johnsy's will to live?

h) What did the doctor think when the snake was looking into the mirror?

I) Why was the narrator haunted by the idea of toothbrush while

travelling?

j) How did Santosh develop liking for climbing?

k) Maria possesses some contradictory characteristics. What are they?

I) Why did the narrator and his family finally decide to get Bruno home?

j) How is the narrator affected by the flute?

k) How did Gerrard outwit the cunning intruder?

I) Describe the functioning of Tommy and Margie's School, the mechanical
teacher, and telebooks. How do they compare with the schools of olden
days?

m) Who helped Evelyn to continue music? What did he do and say?

n) What did Kezia's grandmother suggest her on her father's birthday?

How did she react to her suggestion?

0) What characteristic did Kalam inherit from his parents?

p) What was the poet’s opinion about both the roads?

q) Nature does not differentiate between men of different lands and races.

Do you agree with the given statement?

r) Describe the growth and expansion story of a tree?
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s) How does the snake protect itself? What kind of body does it have?

t) How will time not affect the poet’s beloved?

SUBJECT-MATHEMATICS

What is the decimal representation of rational number % ?

Find the value of 5v3 — 3v12 + 2V75

ABCD is a square of side x units. Find the area of ABCD.
Find the factors of x’y-xy>.

Expand using suitable identity:

(x + 2y + 4z)°
Draw /£ DEF=72°.Construct % of ZDEF using a compass.

In an isosceles triangle ABC, with AB = AC, the bisector of angle B and
angle C intersect each other at O. Join A to O. show that OB = OC.

Find the curve surface area of right circular cylinder with radius 3 cm and
height 11 cm.

A bag contains 6 blue and 4 green marbles. If a marble is drawn at
random from the bag, what is the probability that the marble drawn is
green.

If E, F, G and H are respectively the points of the sides of a parallelogram
ABCD, Show that ar(EFGH) = 2 ar(ABCD).

; : : V6+/3
Rationalise the denominator of N

Show V9.5 on the number line.

. If x = 1 and x+2 are factors of x3 + 10x2 + ax + b, then find the values of

a and b.
Factorise : 27x3 + y® + z% - Oxyz .

OR

Find the remainder obtained on dividing p(x) = x* + x> - 2x*> +x+1 by
x+1.Use long division method.

Plot the points (-2,3), (1,3), (-3,-2), (0,2) on Cartesian plane. In which
quadrant or on which axis do each of the points lie ?

OR

If diagonals of a cyclic quadrilateral are diameters of the circle through the
vertices of the quadrilateral, prove that it is a rectangle.

Q16. A triangle and a parallelogram have the same base and the same area. If

the sides

of the triangle are 26 cm, 28 cm and 30 cm and the parallelogram stands

on the base 28 cm. Find the height of the parallelogram.
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Find the perimeter of a parallelogram of area 288 m?. Altitude on smaller
side is twice the side and larger side has an altitude of 8 m.

For the data: 11, 15, 17, x+1, 19, x-2, 3, if the mean is 14. Find the
value of x, Using the value of x also find mode of the data.

A hemispherical bowl of internal radius 9 cm is full of water. This water is
to be filled In cylindrical bottles of diameter 3cm and height 4 cm. Find
the number of bottles needed to fill the whole water of the bowl.

Prove that angle subtended by an arc at the centre is double the angle
subtended by it at any point on the remaining part of the circle.

OR
Show that the diagonals of a square are equal and bisect each other at
right angles.

Construct a triangle ABC in which angle B = 60°, angle C = 45° and

AB + BC + CA = 11 cm.(write steps of constructions also)

SUBJECT- SCIENCE

SECTION-A (CHEMISTRY)

What is evaporation ? How is it different from boiling.

What is sublimation. With the help of an activity, describe the
phenomenon of sublimation.

If 25 ml of acetone is mixed with 150 ml of water to form an aqueous
solution,then find the volume percentage of solution.

Calculate the mass of sodium sulphate required to prepare its 20%
solution in 100 g of water.

Give the names of the elements present in the following compounds.
(@)Quicklime (b)Hydrogen bromide

(c)Baking powder (d)Potassium sulphate

Explain Rutherford’s nuclear model of atom.

Explain Bohr-Bury scheme.

State all the assumption of Dalton’s atomic theory.

Explain with examples

(a)Isotopes (b)Isobars

Calculate the number of atoms present in 100 g Of iron.

SECTION- B (BIOLOGY)
What do you understand by composite fish culture?
What are exosmosis and endosmosis ?

Differentiate between rough and smooth endoplasmic reticulum.
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List two main functions of

(a) Endoplasmic reticulum  (b) Lysosomes

What is blood ? Give important functions of blood. Which blood cells are
involved in oxygen transport?

How are cardiac muscles different from skeletal muscles ?

Give two characteristics of amphibians. Two examples.

What are degenerative diseases? Why are they called so?
Explain how does a vaccine work.
What are different source and harmful effects of water pollution ? Explain.

Why is organic matter important for crop production?

SUBJECT- PHYSICS

What is the difference between uniform motion in a straight line and
uniform circular motion?

If the acceleration of the particle is constant in magnitude but not in
direction what type of path does the particle follow?

A train 100m long is moving with a velocity of 60 km/h find the time it
take to cross the bridge 1 km long.

Draw a velocity time graph for an object in uniform motion. Show that the
area under the velocity- time graph gives the displacement of object in
the given time interval.

How a man can swim in water?
Why does a gun recoil backward when a bullet is fired from it?
Why are the wheels of vehicle provided with mudguards?

A body of mass 60 kg has a momentum of 300 kg metre per second
calculate its velocity

How does the gravitational force between two bodies change if the
distance between them is tripled? Explain.

Suppose a planet exist whose mass and radius both are half of those of
earth calculate acceleration due to the gravity onthe surface of this planet.
‘g’ on the surface of earth is 9.8 m /s?.

An object is immersed in different liquids. Is same buoyant force act on
the object due to all liquids?

Why do we feel lighter when we swim?

Two bodies of same mass start from rest and moves with velocity of v and
2v respectively, find the ratio of their kinetic energies.
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Q14. Express kilowatt in terms of joules per second.

Q15. Establish relationship between speed of sound, its wavelength and
frequency.

Q16. How is the pressure variation in a sound wave amplifiedin human ear?

Q17. A detector is installed on a ship receive an ultrasonic signal sent to
underwater object after 30 seconds of its transmission. if the speed of
sound in water is v what is the depth of object

Q18. Two astronauts on the surface of the moon cannot talk to each other.
explain why?

SUBJECT - SOCIAL SCIENCE

Q1. Why was treasury of France empty when Louis XVI ascended The Throne ?

Q2. In which hemisphere India is located?

Q3. How people elect their representatives in China?

Q4. What kind of manufacturing units are set up in Palampur?

Q5. How are water choice fulfilled by elections?

Q6. What is the theory of plate tectonic?

Q7. Which Tribunal was set up after World War II to punish the Nazis for their
crime against humanity?

Q8. What were the advantages and disadvantages of the use of mechanical

harvesting machines in the USA?

Q9. Give a brief information on the three types of plate movements on the earth

Q10. Discuss the significant difference between the Himalayan and the peninsula

rivers

Q11. What was Western cyclonic disturbances?

Q12. Give arguments in favour of democracy

Q13. what documents were taken into consideration by the constituent
assembly of India to form the Indian Constitution?
Q14. How can we check the quality of the election process?
Q15. modern farming methods require more inputs which are manufactured in
industry do you agree?
Q16. The employment structure is characterised by self employment in primary

sector explain

Q17. Do you think that present methodology of poverty estimation is

appropriate?
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Describe the events leading to the economic crisis in Germany

Why were Indian farmers reluctant to grow opium?

What steps have been taken by the government to protect the flora and

fauna of the country?

What are the significant features of the National Population Policy 2000?

Who resolved the dispute of Mandal Commission? How did it materialise

later on?
What is secularism? How did the Indian Constitution make India a secular
state?

Describe current government strategy of poverty alleviation

How does social inability to buy food also play a role in food insecurity?

On the given outline political map of Europe locate and mark the following

Any two countries of Central powers who participated in World War I.

NISEIRIEECEIR)
faw- f&dr

1. PR Sw AR -

@)

% SUA PR QT A& §18U |

Q) IRy’ Treg H Ugh SUEI AR HA R 3T HIY |
M) AER ¥R H U U IR A W AT DI |

H)

S)

TP IIT B T g 130 |

YIDBTTT’ DI T fdUg B Far &1 T Ry |

F) IR Bl BT G GG UG I918Y 3R AN BT M oIy |

)

fhe |ANT ¥ NI U e BT © ?

2. 3 B IMR WR I 4 IqT8V :
&) Ty H R fenfenr @ €

) $TR g IR e A |

kc)

3. 9199 YRadd PIfeTT :
®) Pl B A B FINT BT | (g arad I1e)
@) I @ @ forn g | (MY arae ara)

6



4. f=fafaa dRpal § scieR ISy

®) N R @il o 7 9 SR @Il 2
Q) BT " I g J R & AR |
M) Afedt RFdr JeRR- A 98T 2 |

H) IHSD IMAPR BT Yo IQIERVT QIoTY |

ferferst

fer=forRaa weei & SR IR :

1.

10.

11.

12.

13.

14.

15.

16.

IifeTdT 9T ¥ PIH—DIF A TH HR AU 7' DI T8 DI 6T B & forg URa
fopar ?

YRA d=dT 3Nelad & G’ ¥ 397 <dl & dfelq™ & IR § foras &7 &

JMITIHAT &1 BT ?

kg - UHASE BT OIFId] BT oigdh Hl Dal ?
IRt ABTed) qaf =¥ 31U | & AfRhed B fob1 faRIwarat &1 Soorkg fhar & ?
ars g1fer 3R iRgdT & URIR H ger gfssdr ot | AISENU WK BT |

AT & IO AR 3 R dNT ST &R W H el | 39 SR WR 3
g & afaa T b fagiarell @1 aofF #= dad & ?

SIS B <Idl BT IATH hal AT ? I S Aoy AT o ?

Ao 3rell @ SifEl W T A Sd! Y & 918 B a Sadt A | dUE @
AEIH W O @d W 9T el a8l § °

4% e 9 died! 9R Hfaar o1 ufure ot vl # ey |

NI S 6 gl 2 —ufth fas forw w8 1€ € &k @ar ?

e MY’ Haar # K Afa—Rarai &1 7ifife REvr gan g, 91 avi= g |
Hfd 7 Bfaar # fHH TARIST BT 3R Havd AT 2 3R I8 Pal 8l § 2

3T B e # qTe—ASIGY HT R FAR &1 Tl B 2

4% gR I Aidd Gier & ol dderg - a1 SUR G © 2

BT FT HT A e w9 § g=T @mEdr § &R R/ 2

DRI DI Hh AP Bid DI FAT AfIshar o ?



SUBJECT : INFORMATION TECHNOLOGY

Answer the following questions.
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Which is the world’s leading chip manufacturing company?

What is the red-eye effect?

What is the purpose of the volume control in the status bar of Rapid
Typing Software?

How does word help you to keep your document error free?

Which component of word window is used to change the vertical
alognment of text? What do the numbers on the vertical Ruler bar
signify?

What is the difference between Basic Formulas and Compound Formulas?
Write the steps to insert image in a presentation from the Internet.
What is a Shape? Describe the steps to insert a Shape in a slide.

A person is going to the rural interiors of the country where the Internet
connection is very erratic. What kind of e-mail software should he use?
How is formatting applied to messages?

How are application based e-mail software different from the web based
e-mail software?

How do you apply border to the cells?

What are Functions? What are its two parts ?

What do you mean by Indent? Explain the two options available in the
Page Layout tab.

What is the use of the virtual keyboard in the Rapid Typing Software?
How are computers used in Criminal identification and Law Enforcement?
What is the function of Sound Card?

Write the characters of Non-Impact printers.

What is the use of Network Interface Card (NIC)?



